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dq = −e ∙ dx 𝐪 = −𝐞 ∙ 𝐱 + 𝐜𝟏 

Boundary conditions: 1. x = 0     h x = h0 

2. x = L     h x = hL 

Example 1 
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after integration 
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Specific flow q: 
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the 1st boundary condition 

the 2nd boundary condition 



dq = −e ∙ dx 𝐪 = −𝐞 ∙ 𝐱 + 𝐜𝟏 = -(-1)x+𝐜𝟏 

Boundary conditions: 1. x = 0     h x = h0 

2. x = L     h x = hL 

Example 1 

General solution: 

−𝐊 ∙ 𝐡 ∙
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L 

q (x) 

z 

ho 
hL 

0 L 

−K ∙ h ∙ dh = −e ∙ x + c1 ∙ dx 
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after integration 

  ho = 100 m 

  hL = 80 m 

  e
 
= 1 cm/hod 

  L
 
= 50 m 

  q
 
= ? 

  K
 
= 0.1 m/hod 
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Q = 2 ∙ π ∙ r ∙ h(r) ∙ v 
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Wells - 1 

h(r)=? 
r = 0.5 m 
HR=15 m 
ho=10 m 
K=0.001 m/s 
Q=10 m3/s 
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A tube well is 0.46 m in diameter. The unconfined aquifer is of 18 m depth. After 

drawdown depth of water is 12 m in the well. Permeability of soil is 24.50 m/day. 

Radius of circle of influence is 275 meters. Calculate discharge of the tube well.  
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2.303𝑙𝑜𝑔10𝑅/𝑟
 

 
  Q = ? 


